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SECTION —A
I Answer the following Questions: 5x10=50

1. a) What is data structure? Explain the lincar and non lincar data structures?
Data Structure ss+3? linear and non lincar data structures o 80D (Frdhoin?
(Or)
b) What is Linked List? Explain the types of linked lists?
Linked List esm3x? Linked List csom 23803302
2. (a) what is Stack? Explain about Array and Linked representation of Stack?
Stack esm3? Array and Linked representation of Stack o 2380330?
(Or)
(b)What is Queue? Explain about Array and linked representation of queue?
Queue wsmin? Array and linked representation of queueos 230033?
3. (a) Explain about Tree Travel methods with example?
Tree Travel agoos, scordsos 23003207
(Or)
(b) Discuss about Binary Search Tree with examples?
Binary Search Tree acsaos® d3503?
4.(a) What is Graph? Explain the Graph Traversals?
Graph esxr3? Graph Traversalsos 23 ?
(Or)
(b) What is Minimum Spanning Tree? Explain with examples?
Minimum Spanning Tree ssmin? aosdoos® D3003I?
5.(a) Explain about Quick Sort with examples
Quick Sort % aeorrdaos® D3503m?
(Or)
(b)Explain about Binary Search?
Binary Search % 235039507



II Answer any FIVE of the following questions.

6. Discuss about Array ADT?
Array ADT esmdo?
7. Explain about Sparse Matrices?

Sparse Matrices 93580%%0? .

8. What is Priority Qucuc?
Priority Queue esn3?

9. What are the applications of Stack?
Applications of Stack o Zrabosn ?

10. Explain about Heap Tree?
Heap Trees 2380psw?

11. Write about Threaded Binary Tree
Threaded Binary Trees 95805%0?

12. Discuss about basics of Graph?

Basics of Graph % 2380%50?

13. Discuss about Bubble Sort?

Bubble Sorts 25805507

5x5=-25M
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UNIT - |

Answer All Questions

——

10 X 1 =10 Marks

Study the following Table to answer the questions that are given below:
Expenditure of a company (in IPesetas) per annum over the given years

T

——— —

ltem of Expenditure Salary Fuel & Bonus Intereston | Taxes
Year Transport Loans
1998 288 98 3.00 234 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98
1. What is the average amount of interest per year which the company had to pay
during this period ?
a) Rs. 32.43 lakhs b) Rs. 33.72 lakhs
c) Rs. 34.18 lakhs d) Rs! 36.66 lakhs
2. The total amount of bonus paid by the company during the given period is
approximately what percent of the total amount of salary paid during this period?
a) 0.1% b) 0.5% c) 1% d) 1.25%
3. Total expenditure on all these items in 1998 was approximately what percent of the
total expenditure in 2002 o v
a) 62% b) 66% c) 69% d) 71%
4. The total expenditure of the company over these items during the year 2000 is
a) Rs. 544 .44 lakhs b) Rs. 501.11 lakhs
c) Rs. 446.46 lakhs d) Rs. 478.87 lakhs
Bl The ratio between the total expenditure on taxes for all the years and the total

expenditure on Fuel and Transport for all the years respectively is approximately
c) 15:18

a) 4:7

b) 10:13

d) 5:8



/ B) The following pie-chart shows the percentage distribution of the expenditure incurred
in publishing a book. Study the following pie-chart carefully to answer the questions.
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If for a quantity of books, the publisher has to pay Rs. 30,600 as printing costg, then

6.
what will be amount of royalty to be paid for these books?
d) Rs. 26,150

a) Rs. 19,450 b) Rs. 21,200 c) Rs. 22,950
The price of the book is marked 20% above the C.P. If the marked price of the

e
book is Rs. 180, then what is the cost of the paper used in a single copy of the book?
a) Rs. 36 b) Rs. 37.50 ©) Rs. 42 d) Rs. 44.25 T
8. If 5500 copies are published and the transportation cost on them amounts to
Rs. 82500, then what should be the selling price of the book so that the publisher can

earn a profit of 25%7?
a) Rs. 187.50 b) Rs. 191.50 c) Rs. 175 d) Rs. 180
9. Royalty on the book is léss than the printing cost by:
a) 5% b) 33 1/5% c) 20% d) 25%
10.  If for an edition of the book, the cost of paper is Rs. 56250, then find the promotion
cost for this edition.
a) Rs. 20,000 b) Rs. 22,500 ¢) Rs. 25,500 d) Rs. 28,125
UNIT - I

Answer All Questions 10 X 1 =10 Marks

What number should come next?

Look at this series: 7, 10, 8, 11, 9, 12,

a)7 b) 12 c) 13 d) 10
Find the odd man out 3, 5, 11, 14, 17, 21
b) 17 c) 14 d) 3

a) 21
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PETAL : FLOWER
d) Sandals:Shoes

a) Salt:Pepper b) Tire:Bicycle c) Base:Ball

FAG, GAF, HAI, IAH_____ :

a) JAK b) HAL c) HAK d) JAI

1, 4,9, 16, 25, 36, (......)

a) 25 b) 49 c) 41 d) 54
Palate:Mouth::Ceiling:

a) sky b) dam c) range d) room
after:before

b) present:past

a) first:second
d) successor:predecessor

c¢) contemporary:historic

Manager:Assistant::Doctor:?
a) Chemist b) Nurse c) Patient

Bowl:Soup::Plate:?
a) Spoon b) Coffee c) Rice d) Dish

The following question, a number series is given with one term missing. Choose

d) Medicines

the correct alternative that will same pattern and fill in the blank spaces.:

6, 11, 21, 36, 56
a) 42 b) 51 c) 81 d) 91 Ty e e e —————
UNIT - 1l
Answer All Questions 10 X 1 = 10 Marks
N

When 0.36 is written in simplest form, the sum of the numerator and the denominator

is:

a) 15 b) 34 c) 64 d) 13

6+3 of 7-5

a) 20 b) 22 c) 32 d) 10
78 -[5+ 3 of (25 -2 x 10)]

a) 58 b) 52 c) 65 d) 42

Find the lowest common multiple of 24, 36 and 40.

a) 120 b) 240 c) 360 "~ d) 480

The least number whi ; .
by 5.6 4 o o ich should be added to 2497 so that the sum is exactly divisible
g)'st' t hot iy 229 S

ointing to a photograph of a boy Suresh said, "He is th
mother." How is Suresh related to that boy?  son ofthe only son of my
a) Brother b) Uncle c) Father d) Cousin
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39.

Amit said "This qirl i .
it said "This girl is the wife of the grandson of my mother”. How is Amit related to

the girl?

a) Brother b) Grandfather c) Grandmother  d) Father-in-law
325325 is divisible by

a) 7 only b) 11 only c) 13 only d) all 7, 11 and 13

What will be the day of the week 15 "August, 20107

c) Tuesday d) Friday

a) Sunday b) Monday
A clock is started at noon. By 10 minutes past 5, the hour hand has turned through
a) 145° b) 150° ¢) 155° d) 160°

UNIT - IV

Answer All Questions 10 X 1 =10 Marks

Find average of natural numbers from 1 to 677
a) 33.5 b) 34 c) 50 d) 67
The average weight of A, B and C is 45 kg. If the average weight of Aand B be 40 kg

and that of B and C be 43 kg, then the weight of B is:
a) 17 b) 20 c) 26 d) 31

if a:b=7:5, b:c=9:11, find a:b:c T
a) 63:14:55 b) 63:45:55 .c) 14:14:15
Rs. 160 contained in a box consists of one rupee, 50 paisa and 25 paisa coins in the

d) 7:14:15

ratio 4:5:6. What is the number of 25 paisa coins?

a) 100 b) 115 c) 110
Rajeev's age after 15 years will be 5 times his age 5 back. What is the present age

d) 120

of Rajeev?
a) 156 b) 10 c) 20 d) 25
The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What

is the age of the youngest child?
a)4 b) 8 c) 10 i
A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot

@ 4 km/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is
a) 14 b) 15 -c) 16 d) 17
Walking at the rate of 4 kmph a man cover certain distance in 2 hr 45 min. Running

d) None of the above:

at a speed of 16.5 kmph the man will cover the same distance in
a) 12 b) 25 c) 40 d) 60

How many minutes does Aditya take to cover a distance of 400 m, if he runs at a
speed of 20 km/hr
a) 2 min

b) 2.5 min c) 1.5 min d) 1 min
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“Albert invested an amount of Rs. 8000 in a fixed deposit scheme for

An athlete runs 200 metres race in 24 seconds. His speed is ?
a) 20 km/hr b) 24 km/hr c) 28.5 km/hr d) 30 km/hr
UNIT -V

Answer All Questions 10 X 1 = 10 Marks

Evaluate 28% of 450+45% of 280

a) 200 b) 252 c) 223 d) 260

A's salary is 20% less than B's salary. How much percent of B's salary more than A's
a) 20% b) 21% c) 25% d) 30%

A man buys a cycle for Rs. 1400 and sells it at a loss of 156%. What is the selling
price of the cycle?

a) Rs. 1090 b) Rs. 1160 c) Rs. 1190 d) Rs. 1202

A vendor bought toffees 6 for rupee. How many for a rupee must he sell to gain 20%
a)3 b) 4 c)5 d) 6

IfA, B and C started a business by investing Rs. 1,20,000, Rs. 1,35,000 and
Rs. 1,50,000 respectively. Find the share of each, out of an annul profit of Rs.56,700
b) 16600, 12200, 11200

a) 16800, 18900, 21000
d) 14500, 12500, 14300

c¢) 11100, 13300, 10100

2 years at
compound interest rate 5 p.c.p.a. How much amount will Albert get on maturity

of the fixed deposit?
a) Rs. 8600 b) Rs. 8620 c) Rs. 8840 d) None of these

A sum of money placed at compound interest doubles itself in 5 years. It will mount

to eight times itself at the same rate of interest.

a) 7 years b) 10 years c) 50 years
A sum of Rs. 1,600 gives a simple interest of Rs. 252 in 2 years and 4 months. The

d) 20 years

rate of interest per annum is
1 1 3
0, _o0 _00 6_<y, s o i S2
a) 6% b) 6% c) 6% d) 6%
The simple interest at x% for x years will be Rs. X on a sum of :
a)Rs. X b) Rs. (100/x) c) Rs. 100x d) Rs. (100/x?)

What will be the difference between simple and compound interest on Rs. 1200 for

one year at 10% per annum reckoned half yearly is:
a) Rs. 2.50 b) Rs. 3 c)Rs. 4 d) None of these
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SECTION -A

Answer ALL the following questions. 5x10=50M _
B8 B0D BY HYOL HIPEOHVLO FrBNHD.
1. (A). Explain the Christian Missionaries in Modernization of India ?
RS B S500OB5RB B9 B0HOO MFTO DSO0HBN.
(OR)
(B). Write about Describe the Administrative Reforms of Lord Rippon ?
RS PO DO, B0 (3798, HDHOOYED.
2. (A). What was the part played by the Socio-Religins Reforms movements in the 19* and 20*
Centures.
8,5 19 050 208 FFROSE EREBBI0GS EDDOD FOFOB-E0E DORR BP0
5508, FRAS0E.
(OR)
(B). Explain the Self Respect movents in India.
EPEBBE0ET BOBD BT, TPED VLBV 5028, DBOOEYDBW.

3. (A). Write abovt the factors that promoted Growth of NationalismrinIndia. e

EPBBLI0E P ISERSO RYQBOLED EFEREHBD ©oPOHO (570 TPAS0ED.
(OR)
(B). Explain the Home Rull movement in India.
EREBBSS5 BPHPBD 5% Bnd BLEE00W0 (3PY DSDOH 0.
4. (A). What was the role of Mahatma Gandhi in Indian Freedom Struggle.
gROS MBOGEEEOHNSES PoHEE DGLBPODH HEHO DBOO0H00.
(OR)
(B). Role of women Freedom Fighters in Indian National movement.

gROS BB BEH006° H08PE BELE0SIN0 DYRROWD SRFHO (170g, BO)ED.



10.
11.
12.
13.

(A). Role of Subhash Chandra Bose in Freedom Struggle.
EROS AR BOH, DT0ES HogPE WORHED GOV, RFBHO DBO0)HV.
(OR)
(B). Discuss the Integration of princely states in to Indian Union.

EROS TSRS &5 HB8 Hoparo BEDESH oty BOhHDBe.

SECTION -B

Answer any FIVE of the following questions. 5x5=25M

S8 BOBO TS HFT° VY HFHOB HOREESDND FedDND0.

Western Education = RFE, HER, NGO
I Ilbert Bill = RQH Ve
Aligarh Movement - @506 Se5H0E0

Indian National Congress - gPRES P SPORHO

Extremists - OHTEODD

BTODERED BELTOD0

Revolutionary Movemetns

1935 Act . 1935 gR5S HEDBLQO

Mahammad Ali Jinnah - Sospd,d «b e

Cih
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PART-A (5x10=50M)

Answer ALL the following Questions

1. (a) Explain the statutory provisions of Companics Act, 2013, Scction 8 regarding non-trading

or service organisations.

633"566 S v Jogeth Howopod Bodo 5830, 2013, 2E5 8 & ‘5.)6"2;3:).&%;15,:,_..

DH5BoSo’R.

(or)

- . L. Y 4
259 NDOLHHOTD

(b) Explain the procedure for incorporaration of non-trading or service organisations.

THFVES S DI Bogo Sreh BBH DHBoBod.

2. (a) Explain the special features of Double Accounting system.
20t grE® TS0 B0Y), @’355§ ogero HHBoHSoE.

(or)

(b) From the following Trial Balance as on 31-3-2016 of Reliance Power Co. Ltd., prepare

(a) Capital A/c  (b) Revenue A/c  (c) Net Revenue A/c  (d) General Balance Sheet.
Particulars Dr Particulars Cr
Land & Buildings on 1-4-2015 . 2,00,000 Equity Share Capital 3,00,000
Land & Buﬂdings purchased 10,000 Debentures 1,00,000
Machinery on 1-4-2015 3,00,000 Sundry Creditors 5,000
Machinery purchased 10,000 Depreciation Fund 1,50,000
Meters & Mains on 1-4-2015 1,50,000 Sale of electricity 1,00,000
Additions to Meters & Mains 10,000 Rent of Metres 25,000
Sundry Debtors 29,000 Balance ¢f t4ct Revenue A/c 1,00,000
Stores on hand 18,500 on 1-4-2015
Cash in hand 3,000
Cost of generating electricity 16,000
Cost of distribution of electricity 4,000
Rent, Rates and Taxes 2,000
Management Expenses 2,500
Interest on Debentures 5,000
Depreciation 5,000
Interim divedends 15,000
7.80.000 7.80.000

-1-



31-3-2016 =8 8ocHS) 555 OWBE 6 wokee Dol (a) Sroiso grae (b)) val groe
(c) D88 ool grae (d) o) ofpe shoH Sasrs Iabod.
DSTeen Dr OTren Cr
1-4-2015 & g0 Hr8c%» FSTeen 2,00,000 &85 areren 3,00,000
D DO PSP Fdifen 10,000 &zos% 1,00,000
1-4-2015 & cSolgeen 3,00,000 22 ewoeorden 5,000
abogre §%Rten 10,000 &8980 28 1,50,000
1-4-2015 % Dawy) DHocn e 1,50,000 DgS winso 1,00,000
Dow]) BB oergH Styen 10,000 ey o7 25,000
DG aes(ifioen 29,000 1-4-2015 3 ool grov Dexy 1,00,000
R¥E) dexy 18,500
T8S* $rieH 3,000
DERS ad)8 Sgabo 16,000
DS Ho0Dd Ssadho 4,000
©3, Bty ok S¥yen 2,000
DIE0s5 B 2,500
8oy D 58 5,000
édar{)cso 5,000
D508 EAToE 15,000
7.80.000 7.80.000

3. (a) Write the format of a Bank’s Balance Sheet as per Banking Regulation Act, 1949.
ero8oh dabHo(ges r:Ségo, 1949 JQok0H edihmonr arod BRDJPO éeé JDr>D (FPcHod.
(or)
(b) From the following balances of Excel Bank Ltd., prepare Profit & Loss A/c in Form B
format of Banking Regulation Act, 1949.

2,59,000
2,75,000
54,000
2,23,000
18,000
4,200
1,400

Interest on Loans

Interest on Fixed deposits
Establishment expenses
Interest on Cash Credits
Rent and taxes
Director’s Fees
Postage

Commission, exchange&brokerage 8,200
Rebate on Bills discounted 49,000
Discount on Bills discounted 1,95,000
Interest on Current account deposits 42,000
Interest on Overdrafts 54,000
Interest on Savings account deposits 68,000
2,500

Printing and Stationary

& OIS adas IB)S eroH 9. gra Qoge K55ao8® ero8oh Adholses 830, 1949, Bo-9
SRees® o BwE) evgs, Sape gravd Saird Jahod.

avereR $& 2,59,000
H3)E &dagp 54 2,75,000
LD PEpyen 54,000
SIREELD 54 2,23,000
63 $HBak Syen 18,000
GO58 de» 4,200
e ptiyen 1,400

EAS, 98)oF HBckn (5458 8,200
B85 TS Deperp 6t 49,000
deve &30 oo SDS &%"&05 1,95,000
8otS o Arayd S& 42,000
L3BEgop 94 54,000
FHD e Bragp Sb 68,000
E(Ses B RO 2,500

e



4. (a) Briefly explain different types of life insurance policies.
DD Bsre £ D Fede HBoD HHore DHBoBos.
(or)
(b) Following balances are extracted from the books of Sure Life Insurance Ltd. Prepare Bal-

ance Sheet of the company as on 31-3-2016.

Authorised Capital 10,00,000
Issued, Subscribed and Paidup Captial 6,00,000
Govt.Securities 17,00,000
Fixed Assets 4,00,000
Sundry Assets 1,68,000
Life Assurance Fund on 1-4-2015 15,70,560
Claims accepted but not paid on 31-3-2016 80,300
Outstanding Premium 8,000
Annuties due but not paid 22,380
Surplus as per Revenue Alc 14,480
Interest accrued on Investments 13,400
6,740

Outstanding Expenses
3,060

Income tax paid on profit
A6 B9 =3By dNBE 0 JRS°O %08 (f2roDd & BI0H BSPTBos” 31-3-2016

@oéa‘mﬁvﬁg 0308 © Ko Go¥) sRoBpo ééé&) SSSFBIBSHOG.

5

ob%)E SroiNo 10,00,000
2B, oo HHBA» BYoSWES SregKo 6,00,000
(DD ?oérggbeﬁm 17,00,000
?gd esen 4,00,000
a8t ede 1,68,000
15,70,560

1-4-2015 & £98 D

31-3-2016 $ @ohEB0D, BRoSHRS SowSen 80,300
PSS, (HOvabo ' 8,000
BDOSBONS TPQFeD 22,380
orad grae (HsPBo orbden 14,480
DégpHeR TSRS asé 13,400
BDoBBONS P& 6,740
3,060

250 BDODS errch) HXY).
5. (a) Write the formats of Revenue A/c and Profit & Loss A/c of a General Insurance Company.
Ferbee DS EoDd Bw¥) ool grae HHdakw gL grEro ShrTred (aeaol.
(or)

(b) The following balances are extracted from the books of Bajaj General Insurance Ltd. Pre-
pare Revenue A/c for the year ending 31-3-2015.

Premiums received during the year 6,00,000
Reinsurance premium paid 30,000
Claims paid duing the year 3,50,000
Reinsurance claims recovered 12,000
24,000

Expenses of Management



Survey expenses regarding claims Giue

Commission paid to agents 80,000
Profit on sale of securities 40,000
Director’s fees 6,000
Legal Expenses regarding claims 15,000

8,000

Auditors’s fees

Additional Information: (a) Claims admitted but not paid Rs.25,000/-
(b) Management expenses outstanding Rs.3,000/-

(¢) Outstanding commission Rs.5,000/-
ol EHES amBS) OWBE 0 BIHD Bl SErrBos® 31-3-2015 8% woBindly HoiEral
& KoDD Qo) orold ravd ddirthddbol.

(SRS JoSEHBo6® SHrss Bvavo 6,00,000

D35GB (Bpabo 3P0D 30,000
B0 Soddsos’ 3PoDN Bondow 3,650,000
KBS G Fowoew 12,000
Dgeese Jyasren 24,000
BorSHoBH SomododI $0g e 6,000
Dok IYoDS BHRS 80,000
Ersodo oliygod wogo 40,000
2058 Dew 6,000
Sowod Ho020HODI méo‘éséé@é P 15,000
8,000

808 Her
o55H Jdrardo: 1) ©ofEBod, Bos BYoS SowSoen 8°.25,000/-

2) 3DoBLS ABIrea s505en %. 3,000/~
3) BYOBBOVN RS 65,000/

PART-B (5x5=25M)

Answer any FIVE of the following Questions.
6. Briefly explain various types of non-trading organisations.

DY e rFVSY Boge HBoD Lo DHBOBOS.
7. Write any five differences between Receipts&Payments A/c and Income&Expenditure A/c.

SKrth) BPoD FrE° HBAD ST AD Sgosre grard Sogigie S o Dol (Fchod.
8. Explain the limitations of Double Accoun System.

2o grae Lo BN) $8MehHedH JH5BoSol.
9. Write any five differences between Double Account System and Single Account System.

20ty grae AEErd8, 2,08 grae PPIS DKo BT 0t Berod (Feahod.
10. List out various registers maintained by banks according to Banking Regulation Act, 1949.

2080f DabolEen $4o, 1949 (Hs*8o eroHen QB EroSIOND DD BAHZH 2ER08.
11. Explain the concept ‘Rebate on Bills Discounted’ with examples.

BRR)0e5 BOS Degop BBLY ©I ©oTRY AISSRos® DP¥BoSoR.
12. List out the names of companies doing life insurance business in India.

PEEBE0S® B8 i g0 B Sode VB BEYS0E.
13. Briefly explain the concepts Re-insurance and Double Insurance.

Gyse B Loty P e ddoLol.

-4-
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A.S.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKlNADA
(Affillated to AdikaviNannaya University, RajJamahendravaram)
IT YEAR UG SEM-IV END EXAMINATIONS - JUNE 2022
Subject : Communication and soft skills Paper Code : CSS401

Time  : 2Hrs Max. Marks : SOM
Section =A [SOFT SKILLS]
Answer any TWO of the following. 2x5=10M
1. Explain the characteristics of positive attitude and optimism 7

2. What is body language ? explain some gestures?

3. Write a brief note on internal factors and external factors in SWOT analysis.

4. What exactly is emotional intelligence ? write about its importance.

5. What is netiquette and what are online ethics ?

Section —-B [PARAGRAPH WRITING]

Answer any THREE of the following short answer questions 2x5=10M
1. Write some of the key principles towards making a good paragraph.
2. What is the topic sentence? What are its parts?
3. Write a paragraph on “ process of cleaning a room”.
4. What is a paragraph and write about various types of paragraphs?
5. Develop an idea “Where there is a will there is a way ”.

Section —C ( SHORT STORIES )

Answer any two of the following. . 2x5=10M.
1. What is the correct way to paraphrase?

2. What are the five techniques for a perfect paraphrasing?

3. Explain the basic rules of summarizing.

4. What do you mean by the reciprocal teaching method of summarizing.

5. Read the following passage and summarize it in your own words.



Occasional self-medication has always been part of normal living. The making and
. drugs has a long history and is closely linked, like medical practice itself, with belief in
magic. Only during the last hundred years or so, as the development of scientific techniques
made it possible that diagnosis has become possible. The doctors are now able to follow up the
f:orrect diagnosis of many illnesses-with specific treatment of their causes. In many other
illnesses of which the causes remain unknown, he is still limited, like the unqualified prescriber,

to the treatment of symptoms. The doctor is trained to decide when to treat symptoms only and
when to attack the cause.

selling of

This is the essential difference between medical prescribing and self-medication. The
advance of technology has brought about much progress in some ficlds of medicine, including
the development of scientific drug therapy. In many countrics public health organization is
improving and people’s nutritional standards have risen. Parallel with such beneficial trends are
two which have an adverse effect. One is the use of high pressure advertising by the
pharmaceutical industry which has tended to influence both patients and doctors and has led to
the overuse of drugs generally. The other is emergence of eating, insufficient sleep, excessive
smoking and drinking. People with disorders arising from faulty habits such as these , as well as

well from unhappy human relationships , often resort to self -medication and so add the taking
of pharmaceuticals to the list .

Section —D (Letter Writing)

Answer any TWO of the following . 2x5=10M.

—
.

Write a letter to your sister suggesting her to join B.Tech after the results are announced.
2. Write a letter to the Police Commissioner about the increase of eve teasing.

You have seen advertisement of a tv on the website. you want to buy it and you need
some features about it. Write an e-mail to benzs@yvision.com.

4. One of your friends has recently selected as a pilot for an international airways.You
appreciate your friend vikram through an e-mail.

o

Section —-E ( RESUME & CURRICULUM VITAE)

Answer any TWO questions. 2x5=10M

1. Prepare a resume for the post of Assistant Professor in Central University.
2. Prepare a curriculum vitae for the following advertisement.
Wanted a Senior Manager for a Pharma Industry. The candidate should be a post
graduate aged above fifty years. Should have an experience for a minimum of 10 years
as a manager .Apply to Post box n0.256 ,“ THE HINDU ”-VIJAYAWADA.

3.Write a covering letter for the post of electrical engineer in LSA power plant, Miyapur,
valli street, Hyderabad.

4.write a covering letter in response to the following advertisement.

Wanted a B.Com graduate with experience in Accountancy and proficiency in

M.S.Office for the post of accountant, in an educational organization. Apply to Post Box
No.190,HYDERABAD -500004 within one week.
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— JUNE 2022
11 YEAR UG SEM-IV END EXAMINATIONS Jl]{aper Code : LE404

Subject : Leadership Education
Time : 2Hrs

Max. Marks : SOM

5 x 10=50 560, &0.
€1 808 TS 0 B¥) LD DAFG DAV TrAHIT.

Answer any five questions of the following.

1. 3038 20065 D AGFDD DDE G ADSOALES e HPFO0DH.

i nagement.
Explain importance of leadership in management and how do you highlight a leader in manag

2. QL’) bg'odan:& DABoHAn.
Explain the trait theory of leadership in detail.

3. DO OITID? &° '.osuvam)m (DEAIERsVLMA BeniY.

What is meant by motivation? Explain its nature

4. TADESIONS™D DIG Fewoiw For SEBVVXL AT0) BRYBD.

Enumerate different types of leadership.

5.248r07 640 IMID?20 Ao EAD d!r(fsé Sodokn eolrd'sdo:& DBBochAD.

What is communication? Explain the merits and demerits of written communication?

6.220r 5300 AEGDoD) DJFLFAD BEAVOD DIBoLHB.
What is meant by group? Write different types of group.

7.0y062500 OIMTI? &P VLLBNVRY, TP DGRV DBIBoEOJW.

Define team and what the features of a team.

8.206 BSAwed QDG Sdome DdBotsLAW.

Critically analyze the different types of teams.

9. 3550 2065 LBGD B0 H00D TADHoA.VBYD BEAVVR DBOoHOB.

What is personal behavior? Explain different types are of inter personal behavior?

10. DAL ITR?JB8S V) VEPPTY) LO0ED G0 DHOoEIRW.

What is moral? Explain the meaning, nature and significance of moral.
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A.S.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKINADA
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11 YEAR UG SEM-1V END EXAMIN
i lc : LE404
Subject : Leadership Education Paper Code

Time : 2Hrs

Max. Marks : sSOM

=50 AT ), .
& 306 IS DD YY) O PAFFBAV FALITO. 5x10 b

Answer any five questions of the following.

1. 2535 20085 D DBGD0D DD BE2L DOaLES Debowdd SREO0DDV.
Explain importance of leadership in management and how do you highlight a leader in management.

2.8 bg'od:mab DIBod AW,
Explain the trait theory of leadership in detail.

3. HOR OITIN? T RGEPSAD AoraricascnRdd BeLHAD.

What is meant by motivation? Explain its nature

4. TOHESGBVES’D DDE FewwRw Tor GEDVV Ar0) BOYAW.

Enumerate different types of leadership.

5,030 080 IMA?79r e arrijd 8ok ad&rﬁsﬂom DHBocHAD.

What is communication? Explain the merits and demerits of written communication?

6.2 5 A& :w_gaoa 20 LPAD BEANVOA DSBoYI.
What is meant by group? Write different types of group.

7.£33068800 XMPAD? P VLRANVXV, TR DFEHVD DBOOLW.

Define team and what the features of a team.

8.29)06 BNV DRGHT &Y ST DHBoBW.

Critically analyze the different types of teams.

9,550 B0Gs5 HIGD B> 100D FADOA.DIFD BEBVVR DBOOBIB,

What is personal behavior? Explain different types are of inter personal behavior?

10. ROES VATID?DAES TR VERPIPY) HO0K FGRO DBOoB.

What is moral? Explain the meaning, nature and significance of moral.
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T TR
SECTION -A

Time t s

lled diagrams wherever necessary.

S OPH T 158 60D
5x15=75M

Answer any FIVE of the following questions. Draw labe
B Pow wepd® Hgee RGO Hrfoi HHPTESHHON FPADD,
HhHoed Bdndo.
(A). Describe the formation and functions of foctal membrat
658 DO S,ePoid ‘DY, BHEo HOAEN HEOOD HEBOOLYED.
(OR)
(B). Describe the placentation in mannauls.
L5006 PHOLTHRDT HBOOTID.
(A). Descirbe the structure and functions of heart.
RSB0 DY, OTR,EIH0 SO0 DEOOH0 BHOEYH0.
(OR)
(B). Describe the structure of nephron.
JPO B0, DR,V HOH0.
| 3. (A). Write an essay on ultra structure of muscle.
BOBBE BNY,, B, R0 &8 T3P0 RCS008.
(OR)

1e in chick.

N EEAER B SvEEETEETT e

FHLUESE.  BERS dvmisy ) RERRRR. BREN TR Wy
9

(B). Write an essay on pitutary gland.
Db Kopp &b Tbo FAV0k.
4. (A). Explain the effect of light on the Ecosystem.
U5 DY 0B B0E, DEPRR, HDOOWBO.
(OR)
(B). Explain about nitrogen and phosphorous cycle.
BBBO O PYPBO HOUARO POV SO0 S08.
5. (A). Explain the community interactions.
HERES HOOGROHD DDOOOs.
(OR)
(B). Give an account on the fauna of Ethiopian region.
LORRDACS POB0 DG, BOB HODLRL HHOOTID.



SECTION -B

Answer any FIVE of the following questions. Draw labelled diagrams wherever necessary.
Se

Boo o2&t $3oe &Y P HERTPSDNOD FOEND0 @556 tobIno s 0D
D50,
£33 So BBooSom. 5x5=25M

10.

11.

13.

Fertilization

Types of eggs

HobHBLD

@O BB

Cardiac cycle SRyas HodDo
Thyroid gland @oeond (o8
Pancreas S glel

Food Chain PTG HOTI0
Australian region QOISR FPOBD0
Carbon Cycle B Hoao

ATAIATAL



A.S.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKINADA

(Affiliated to AdikaviNannaya University, Rajamahendravaram)
III YEAR UG SEM-1V END EXAMINATIONS — JUNE 2022

Subject : Special Telugu

Paper Code : ST4104
Max. Marks : 75M

Time :3Hrs

grilo - @
I & (80D 8S° nhoHB JSrrrares Touhol.

1) ethd8 885 ofmren DNoKod?

2) ¥ SIS 380 JdBolol?
3) 3 39S S°8680, e Bodbod?

4) QKD JoBe EHeo
5) grd BAEY QBT )
6) BorTrohELy BsSen DEYK0A? /
7) &G 0 Jow HEKen $He 58) BoHod? (

8) &8 Boleo35ess «av@ - $& Aoesen.

PO ~'es
I & (808 (Do Jsrgraren (Pcbod. -
9) e@HAB SeniH 3°§3°e‘§50“333 - @830‘;)26 Q5380 0H égofﬁo&?
(Bwe)
PRI SPHBS F8o 19°8) DHBoBoR?
10) oHEeS erd Seagard) 56050872
Glag)
h8erel @EhE sy $8yoSod?
11) egftch D806 s ¢ - 98R0S08?
- (@)
D8 FEEES® 2obd S5 S8 AEER0HK0?
12) dEee a0 Ferds £5%0 DHB0HR?
(Boe)
S8 oFEre D0 BT ol Sprsst dogomotsod?
13) %0 ée)a’e%wm&gen L8 S 938330 DHBoLo&?
(Bo)
BeorHS® H5 RGBS HOeTErQ) DHB0HK0?

5x5=25

5x10 =50



A.S5.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKINADA

(Affiliated to AdikaviNannaya University, Rajamahendravaram)
ITYEAR UG SEM-1V END EXAMINATIONS - JUNE 2022

Subject : Solid Geometry Paper Code : MAT2301
Time : 3Hrs Max. Marks : 75M
e
PART - A
Answer ALL the following Essay questions. 5x10=50M

1. A) Show that the origin lies in the acute angle between the planes x 4+ 2y + 2z = 9 and
4x — 3y + 12z + 13 = 0. Find the planes bisecting the angles between them and point
out which bisects the acute angle?

(OR)
B) A plane meets the coordinate axes at A,B,C respectively such that the centroid of the
triangle ABC is the point (a,b,c). Show that the equation of the plane is E + % + % =3

2. A) Find the equation of the plane containing the lines f_+—31 = yT_3 = z—;—z and the point
(0,7,-7) and show that% = % = % also lie on the same plane.
(OR)

B) Find magnitude and equations of the line of shortest distance between the lines
x-8 _ y+9 _ z-10 x-15 __ y—29 _ z-5

3 -16 7’ 3 8 -5

3. A) Show that thecircles x2 + y2 +z2—y+2z=0,x—y+z—2=0,
x2+y2+2z2+x—-3y+2z—-5=0,2x —y + 4z — 1 = 0; lie on the same sphere and
and its equation.

(OR)
B) A sphere of constant radius K passes through the origin and cuts the axes in A,B and C.
Find the locus of the centroid of the triangle ABC

4. A) Two spheres of radii r and r; cut orthogonally. Prove that the radius of the common
nr

circle is W
(OR)

B) If f = % = § represents one of d a set of three mutually perpendicular generators of the
cone 5yz — 8zx — 3xy = 0, find the equation of the other two.

2 2 :
5. A) Prove that the cone ax’+by*+cz*=0 and % + y;- + EC— = 0 are reciprocal
(OR) '
B) Obtain the equation of right circular cylinder whose guiding curve is the circle through
the points (1, 0, 0), (0, 1, 0), (0, 0, 1).



PART -B

Answer any FIVE of the following Short Answer questions. 5x5=25M

6. Find the equation of the plane through the points (2,2,1) and (9,3,6) and perpendicular to
the plane 2x + 6y + 6z = 9

7. Find the image of the point P(1,3,4) in the planc 2x —y +z+3 =0

v x+3 y+5 z=7 x+1 +1 Z+1
8. Show that the lines — = === == —_ arc coplanar.

: -37 4 5
9. Find the equation of the sphere through the point (0,0,0), (0,1,-1), (-1,2,0) and (1,2,3)
10. Find the equation of the sphere through the circle x?2 +y%2 +22=9,2x+3y+4z=5
and the point (1,2,3)

11. Find the equation of the cone whose vertex is (a,f3,y) and base y? = 4ax,z =0
12. The plane 24 % + % — 1 meets coordinate axes in A,B,C. Prove that the equation to cone
a . .
generated by the line drawn from ‘O’ to meet the circle ABC is

b ¢ c a a b
(g +g)rmx G+ D+ () =0

. % = ¥
13. Find the equation of the cylinder whose generators are parallel to T ==

I

WIiN

and whose
guiding curve is the ellipse x24+2y2=1,2=3



A.S5.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKINADA
(Affiliated to AdikaviNannaya University, Rajamahendravaram)

II YEAR UG SEM-1V END EXAMINATIONS - JUNE 2022

Subject : Indian Political Process Paper Code : POL4103
Time : 3Hrs Max. Marks : 7SM
SECTION-A
Answer the following questions. 5x10=50M

s 1808 DHOB JSSrprISnen (Frasnbn.

1(a) Define Modernization and explain its features.
255008805 BN, &' wfTredd DBBoHSw.
(or)
(b) Write an essay on Marxism.
Srfpyzo a8 FrgdSn (et
2(a) Explain the Transition of Caste System.
Hoodgsy B8 YENYrEiEoro DHBoRSw.
(or)
(b) Explain the Social and Political aspects of Dalit Movements.
898 e BgSrot o FSrag, oadah Jdpgos 28, S0,

3(a) Explain the influence of Religion in Indian Politics.
r8Soradasros® Sod PrR0gS08 JH5BoYHS0.

(or)
(b) Explain the Communalism in Majoritorian and Minoritarian in India.
TESBEI0ES® 0wHE Qopgs STro, vy dopgs Sore SoSSE™) DBB0HSw.

4(a) “India is a Securalistic Country”-Discuss.
“er8SRE80 w S8 Toe3g 80 -wSByot0d.

(or)
(b) What are the issues that influence the voting behavior in Elections.
ANEOS® LY (HIEIH Herddo ok woT e AD?

5(a) Discuss the role of Regional Political Parties in Indian Politics.
88 Trafcsros® (FodakH Fho S8 KBy DSBoYSw.

(or)
(b) Explain the origin and Policies of B.J.P.
B.J.P.Jyeng Sod8cso ot drosren, (Dgraren) I5BoHSow.



T —— - -

SECTION-B
Answer any FIVE of the following questions.

€ Bod et I 0eH PHOH SSrgrsses oS08 eI
6. Surplus Value 0 Jend

7. Communalism 0G5 Bo80

8. Caste System in India. ESBF0eS® o $§5Y (306 S Sg53)
9. Dalit Panthers Movement 398 Fogb) g0

10.T.D.P BentHddo &

11. Coalition Politics %088 oradosren

12. Multi Party System EES e} 6§5é®

13.N.D.A AR.8.2
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A.S.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKINADA
_ (Affiliated to AdikaviNannaya University, Rajamahendravaram)
II YEAR UG SEM-1V END EXAMINATIONS - JUNE 2022

Subject : Income Tax Paper Code : 1T4203
Time : 3Hrs Max. Marks : 7SM
Section -A
D Answer the following questions. 5X10=50M

800 DIV VIAFEDIV Fradod.

1) a) Define Agricultural Income? How it is treated for Income Tax Purpose?
05:)3"063 ST WAMPAN 7 BEoREY DY borg ;55355‘:"01) L ORIV Q

QAT G ?
(or)

b) Explain any 15 Exempted incomes U/s10, Income Tax act 19617
IErODR) DAY 3o 1961, PLS10, PS°Go IPO” 15 DDBF00DWED

SO0 DDBoIoc

2) a) Define the term Perquisite and how are they treated for Income Tax purpose?
Do WIAMPI ? errolaY D) bory DOVLPVID ADGE0 S FD ?

(or)
b)Smt. Bharati working as an Officer in the Sales Department. Her salary particulars
during the month for as follows:
Basic Pay 18,000/-,
DA 5000/-,
House Rent Allowance 3500/-, ( she lives in her own house).
Entertainment allowance 1000/-,
City compensatory allowance 1500/-,
She paid professional Tax 250/- per month.
According to the agreement she was entitled to get a commission Rs.96,000/- But she

has to bear the sales expenses. In this connection she paid Rs.40,000/- as expenses. She
requested the sales organization to reduce the sales expenses.

Calculate Income from Salary from the following situations:
a) She is working in Government Department.
b) She is working in Public limited company.

9258 216D WITO PEANS WS OB DIBOIOSOD) &. B B30 AV,

DHGEAEN DA ATVAVDID (e, °) & §od DFIVMT SO.
JorODSBDD0 18,000; £6>) Fgo 5,000; Q08 o3 Zdgo 3,500;( e5sD¢ B VD



yrans Do) 6). DT Bdfe 1,000; HAG DOFE HE0 1,500; 5,9

DAY STRADDLD 250/ BYoSRD. &850 DT VPRV PSED0 DL

20 STOD DN RIWERD. 5°0 ) P DENRD e8¢t ZBoIDOZVND. (1S

(SRS NCRWIN £59¢ Do BoDD EDNRD 8. 96,000. RGO TR 3D

DDDODEO 2DEND G5°. 40,000 e3¢ & DWNRD ST ‘:?&55;56&‘):)56 d.)t:ﬁ)é‘l&.

B BHBD DoBByBZNVOS EI20 AOCICTADIN TH0LPID.
D) 5D DTS DeTanS” &8§fo BAODOV) &.

D) 9D HOE ODBE SoDVS® &8jffo BOIVWR) &

3) a) What do you mean by Gross Annual Value? Explain Municipal Rental Value, Fair
Rental Value, Standard Rent, Expected Rental Value and Actual Rent?

Qe D788 Ded OBTI ? DTV DOLVLY BB DD, VOBV VY
Dend, Foreds 0B, 80D O DenDd, TFRIWD 0B DedVR 1o ?
(or)

b)From the following particulars calculate Income from House Property of Smt.

Lavanya.
Municipal Rental Value : Rs.6,000 pm
Fair Rental Value - Rs.6,500 pm
Standard Rent : Rs.5,800 pm
Municipal Taxes : Rs.10,800/-
Rent per month : Rs.6,600/-
Vacancy period : One month
Unrealized Rent - One month rent
Fire Insurance Premium : Rs.2,100/-
Interest paid on housing loan : Rs.50,800/-
BHD FDND DBCBNL Mok 9200 erdrg CAVE), (1P Aol BEPaHRD (RN
BoDod.
DBOE Do) 0B DD = 9O JrRAVJHD . 6,000
PB00BIODOD BB DD = DS JorHAIDH 6. 6,500
A>3 03 = P AFRIVID 65°.5,800
DOV VoIV DRV e = ¢5°.10,800

DADTOIVIL 0 =@d>. 6,600



S5O SPOAD 208 AIFEAD

S0 5°R 8 208 JIFRJD 3

ofy DA 2oHo =g, 2,100
Ay 6B E0R ECL SR0DB) edny p BPodDd HE 6. 50,800

4) a) Define Capital Gain? Discuss the procedure for computation of Capital Gain as
per Income Tax Act 19617

JOTGD erere) ITRA? & %gsﬁ‘ TPV TE)03) Do

SO HLE ot B0 ?
(or)
b) What are the Income chargeable under Income from other sources?
RBEHDEO B0 STPOHAD DNROHHES” DY DOOIEHD ITPAZOM D

DeedA0T T FD ?

5) a) Explain Qualified savings U/s 80C?
2ES 80C 5o e TEODVRL JDBoL0C.?
(or)
b) Sri Randheer Guptha submit the following information. Calculate Total Income and
Qualified Savings U/S 80C.

Loss form own house : Rs.18,000/-
Income from Business : Rs.3,50,000/-
Income from Other Sources : Rs. 72,000/-

Term deposit in schedule bank for 6 years: Rs.16,000/-

Deposit in Public Provident Fund : Rs.40,000/-

Paid LIC premium Rs.11,500/-(policy 50,000/--issue on 5-6-2008)
Interest paid on Housing loan Rs.72,000/- (including interest Rs.18,000/-)
Purchase of NSC VIII issue : Rs.30,000/-
Investment in IDBI savings bonds :Rs.25,000/-

Invested in L&T company infrastructure bonds :Rs.15,000/-.

Mr. 66388 (HOJ° ADHD BT R Kod Do HEEoRAN 080k VES 80C Ps°do
R9G TRRDOR Tg) odt.

Toeedd TR (fZTo Kod do 6 . 18,000/-

a°§£1°d eszeodo 6. 3,50,000/-

RSBBIDDL ok el 8.72,000/-

2[E efoh &5° 6 DodehyGIwvD &) cJras 65.16,000/-



0 SIS &S 20 63.40,000/-

5, )
2D D1 oo BP0y 63.11500/-(Jesty &, 50,000/-, 5-6-2008 & 28)

D QoY OF HRDOB) wRND HE BBy 6. 72,000/-( 18,000/-6. SES' 2155)
NSC VIII &6 E208%0y 6. 30,000/-

IDBI 0y e eroges® Dtaescs d. 25,000/-
L&T o 3508 weodrodre erogeds” ened 6. 15,000/,

Sccetion — B

II) Answer any five of the followings 5%5=25M
& 0B DL VI VL DATTROQD Fe)evtlela

6) Resident and Ordinary Resident.
QT OOKD APTEEEd DT

7) Capital Receipts Vs Revenue Receipts.
200 DAL Vs TPl ST

8) Types of Provident Funds.
DIE G5O PN DGRV,

9) How do you calculate House Rent Allowance.
Qo&wg AL (SN

10) composite Rent.
2oaing ©F

11) Treatment of Capital losses.
207060 de §8)08)

12) 80CCE.

13) cost of acquisition
&G Hodo
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5x10=50M

—— . p—

“Cechion —A
) Answer the following questions.

1300 VF) VD PIFETAIVL Iradoc..

1) a) Define Depreciation. And explain the various methods of computation of
Depreciation?
SHHBL VITADT DI G5 L BBV )0t HHBILH DH0odoC..

(or)
b) Mr.X purchased a machinery on 1-7-2010 Rs.40,000/-. Charge depreciation at 10%

under Reducing balancing method. On 31-10-2012 Yath of machinery was sold at

Rs.5.600 due to obsolete condition on the same day he purchase Rs. 15,000 worth of
new machinery. Prepare necessary Accounts from 2010 to 2013 and accounts will be
closed on 31* December in every year.

20 1,2010 & X abogrody dr 40,000 ot Eoffendhare. 200 10%
SN SHS0D) DUTUDEDD BEHEL AT yE3aIrgd. 310080652012 % V4
Do adogren HIFTeLLE Do SV Er.5600 00 Yo WOVBL. ©d
Ser 6. 15000 2B S ohomrosn Soffen Sbrd. obogre wrovad 2010
00d 2013 HOLH BAIPEHBODOE. PrErORD G086 31 ANAFD.

2) a) Explain the various kinds of Reserves?
DG 570 BRI STTEROS DHB0SE?
. (or)
b) Distinction between Reserve and Provisions?
Baachgen dasn Ao e 06 (o Brrod DdBotdod.?

3) a) Explain differences between Receipts and Payments Account and Income and
Expenditure Account?

SHArL B0V rTE O esTEOD Dgoire e Sogio Tl SISV
DSHBocios?
(or) i

b) From the following Receipts and Payments account related to a Sports Association.
You prepare Final Accounts.

[ RECEIPTS Rs. PAYMENTS Rs. |
To Subscriptions 15,000 | By Land 10,000
To Donations 50,000 | By Buildings 40,000
To Legacies 10,000 | By Furniture 10,000
To Entrance Fee 5,000 |'By Loose tools s MENS OO0 TS
To Life membership Fee 3,000 | By Sports Expenses 6,000
To Income on sports 17,000 | By General Expenses 1,000
To Other Receipts 5,000 | By News papers 1,500
To Sale of Old papers 500 | By Land Maintains

Expenses 4,000
By Closing balance 28,000
1,054800 1,05800




Half of the Donations, Legacies, Entrance Fees, Life membershi
Subscription arrears Rs.5,000/-

loose tools.

p fees capitalized.
charge depreciation 5% on Fixed Assets and 10% on

ot RBLICD JEL BDoRYL aTPE° 00d 28 AT Rotwo B, B

J Sbom awmaom5od.

SRR dr. 38oipew ar.

To SSoren 15,000 | By #5300 10,000

To doewren 50,000 | By #35550en 40,000

To STERTE(eD 10,000 | By DOy 6 10,000

To LJIDELVAD 5,000 | By ese556500e1 5,000

To é:)érae;s,sc:‘ssdamn» 3,000 | By estoer CSUNSY 6,000

To 500 5T a3A0 17,000 | By o660 DEINeD 1,000

To DI Haxresh 5,000 | By H@gen 1,500
To & DY ) o 500 | By 220 dogires

PR 4,000

L By 20105 dexg 28,000

DT, TEVT R, Qb‘é@@@o,a&bé&aﬁségﬁomw@ Dffo FOGEALOI0d
QOB DATLDSTILVR tSoreen 8°.5000. [T 5%, sLD8sTrUD 10%

SEOMDGD Dvb&naomso&.

4) a) Explain the differences between Proforma Invoice and Account Sales?
P07, ARPEEND B00I0 W0t 25y 206 o Brrord DdBoSA?

(or)
b) Raman & Co. of Visakhapatnam sent worth of Rs.10,000 goods on Consignemnt
to Ravi of Hyderabad. Invoice Price is fixed at 25% on original cost. Raman &
Co incurred expenses Fright and Insurance Rs.500. Raman & Co drew a bill as

advance at Rs.2500/- and same was accepted by Ravi,
Ravi & Co sent Account sales as follows: v 2

¥a th of the stock was sold at Rs.10,500/-

Expenses Rs.250.

Commission on Sales at 5%.

Ravi sent a draft due to balance.

Prepare necessary accounts in the books of Raman & Co.



QTP 0 BB TS & & 6> 65°.10,000 Desdtier DA RARPLO0R

68 ITETErEd € BodD DZols ¢S €5 R D 20085 D DoDRY. AFOND GG
VR GG 25% ererand Dgowodd. TS & § oo DD Doy : DS
200050 Dadwe 65°.500. Toe0S & & Sy 6D 6. 2500 Dew grobrr 6D DD

©00AEOBR.

DS 0D foesb DAL S0 Deorr GRAYO.

Va4 Doy DO @&)&So &se. 10,500

DEDYED E°.250
SN0 920 STV 5%

BYoSHORD DGIS 8D &7 HoRW.

T00 & § RSRS” WSRO TR SorHBak0d.

5) a) Explain the differences between Consignment and Joint Venture?
EQ D Q 0t5 LBk )G TG0 G (o Brrord DDBotsed?

(or)
b) Ramesh and Suresh enter into a Joint Venture sharing profits and losses in the

ratio of 3:2. Ramesh supplied Rs. 7,500 worth of goods and expenses paid
Rs.500/-. Suresh supplied Rs.6,000/- worth of goods and expenses paid Rs.400/-.

Suresh sold the entire stock for Rs.18,000/-. Suresh settled to get the
commission at 5% on sales. Suresh settled the accounts by sending bank draft to
Ramesh. Draft necessary Journal Entries in the books of Ramesh and prepare all

ledger account.
6208 S08akd BD e GIE TG0 FCoDod) rBHTOM 32 A3’

DoSELNTY . GO 7. 7,500 © DL DEHT B 60, 500 R
B30T 2083 6. 6,000 HLELHOXD HEHT® B 6. 400 PN BYoI.
&G T§FG0 SO WBA DAL 6. 18,000 0L AP da D

@257 G 5 TS0 S AVEHTR. RVEHVVD DGAS RWTD e

TR Do, GROD WSV DEFDEI I PTVR SAIPHOBODS0G.



Section — B

1)  Answer any Five of the followings 5X5=25M

206 TOS" D HFY VD DBIEPHIVD Jeadoct.

6) Characteristics of Depreciation
SHEDOL VEETRD.

7) Any Five Reasons for Depreciations.
Do D SrbBu o sPdrren.

8) Capital Expenditure.
QTS aiscnaan

9) Revenue Income.
OreG €5T3°0DD

10) Unsold Stock.
esméSO?JD DD

11) Features of Consignment Account.
€ D D Dotd vgren

12) Advantages of Joint Ventufej Account.
a;:»&&. w&%"do STy RODISVE F‘&Q/%Z‘) Q’gnm

13) Memorandum of Joint Venture Account.
2DVT 00 DY G T CosTT
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SECTION-A
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Answer ALL the questions. All questions carry equal marks 5x10=50 M

808 &) PEHOH DATEHBDED FoABDED.

1.a) “All agreements are not contracts. But all contracts are agreements™ Discuss
“©BBobhd) srogryen 52 s sPogrged) edHnod” 990508
(or)
b)Define Contract. State the essential elements of Contracts.
SO LR DEDODOE. SPOLPE) WHEE o SDADBADOE.

2 .a) Define “Acceptance”. What are the essentials of a valid acceptance?
“855,8" 0 DGsDoB0E. 5® esdE o 8DanTanod.
(or)
b) “A Contract without consideration is void™ Explain its exceptions.
“QODO0o B SPodrEen 39Y” TP0 L, DJJFANOY O DBOOYIW.
3.a) Discuss with suitable illustrations the law relating to the validity of contracts by Minor
OGS S0 SPOLPEIOL DODOHODD F5ALE*J0F° O VOGFron® DIV0BOG.
(or)
b) What are the agreements opposed to Public Policy?
Qahés DErrO8 DG @ADOY DOPrOTe DJVODOE.
4.a) Define sale of Goods Act? Explain the essentials of contract of sale of goods.
SDEAD BLOK OE;HOD, HXY DEAD SPOLFHED eddsrotn DIDoWHW.
(or)
b) Who is an “Unpaid Seller™? What are his rights against the goods and the buyer?
" BP0 A0 ARSOLRH * @08 IDHD? HWHODI, HdBSorr e T DD S 5O

KJ"SJ&QD ((DS.).)@S?

5.a) Define the following terms under the Information Technology Act
DEPTE F0EBE B340 HS°C0 §0b HEOD VSDOB0B.

i. Computer Sorsod

ii. Data Ve T*80

iii. Electronic Record Qo8 o5

iv. Digital signature certificate &b HoSS &5y HSaw

(or)
b) Explain the Provisions regarding secure electronic records and secure digital signature.
QOFOE 05TE) O WOAW EEHS VOSSO TFEFDE LD HODODODD VDOLEBE DIVOLYW.




I 3vanva dalrgvdissms: - -

NADA
A.S.D.GOVT.DEGREE COLLEGE FOR WOMEN (AUTONOMOUS),KAKl

" i i j hendravaram)
(Affiliated to AdikaviNannaya University, Rajama 022
MINATIONS —JUNE 2
111 YEAR UG SEM-TV END EXAMIN Paper Code : BL4202

iect ;: Business Laws
e Max. Marks : 7SM

Time : 3Hrs

SECTION-A

Time : 3 Hrs Max.Marks: 75 M

Answer ALL the questions. All questions carry equal marks 5x10=50 M

800 ©0) HHOLH DITTHIVED FPATVAD.

1.a) “All agreements are not contracts. But all contracts are agreements” Discuss
“@ATo&R) SoErge 529 520 sPogrgel) ool Hp o0&
(or)
b)Define Contract. State the essential elements of Contracts.
SPOEPEH DEDOBOG. SPOLrE) eHEEToR BDADBANOG.

2 .a) Define “Acceptance”. What are the essentials of a valid acceptance?
“R55,8" © DEsDOH0E. {558 eddsoR BDALETVOE.

(or)
b) “A Contract without consideration is void™ Explain its exceptions.
“V8DHO SO SPOgrEen 39" TPR S; JIEAN0 O DHOOYI.
3.a) Discuss with suitable illustrations the law relating to the validity of contracts by Minor
P88 SWOI SPogrHOLH HODONODD TTADE LT O VOFEIPOT DHOOBOB.

(or)
b) What are the agreements opposed to Public Policy?
QLS DEPOS DBSFD ©FoLR Dofron DIV,

4.a) Define sale of Goods Act? Explain the essentials of contract of sale of goods.
DNDEAD HE0 DEDOB, DN DEAD STOLP LGP eHEs oD DHVOWW.

(or)
b) Who is an “Unpaid Seller™? What are his rights against the goods and the buyer?
" DO BB ©HRSOTD * 908 JHD? HXNVOD, BB SHien T DD @BV (o
5.a) Define the following terms under the Information Technology Act
DTS OTBE 5YO Y0 0B HTrOK VEDOS0E.

i. Computer Borsd

ii. Data VTG0

iii. Electronic Record QOS5 D5°

iv. Digital signature certificate  &a2éod Hoss &y HHw

(or)
b) Explain the Provisions regarding secure electronic records and secure digital signature.
DOFOE 0576 O WO BEdS HoSSOD WEDEDHL VOVODODD VDOLOR) DJHOOYDW.



SECTION - B

f\nswer any FIVE questions. Each question carries 5 Marks 5x5=25M
P DO HHOL DITEHHVD GV,

6. What is “Agreement™? State the essentials off Agreement,
‘©Aotn @08 DWET? BP0 BHAGEO VOYHOG.

7. Explain different kinds of offer.
ROIPED O5TOR DIDORYA.

8. *Past Consideration is no consideration’ comment,
TIPS REDOA PADOH HE' DIHDOHOE.

9. What do you mean by Novation?
sPors) DDEB DRI ?

10. Explain about Doctrine of frustration.
(L ISuk elel ‘-‘com;o@;méa (0P 0y DDOORYW.

11. What is Specific Performance?
PR NOJL PS*EO @00 DD ?

12. State the differences between conditions and warranties
LB DA YPHED B (50 SO DT%,V0k.

13. Explain about Cyber Crimes.
228 Joro (HO0d HBVONOE.

% % Kk ke
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Time
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HTYEAR UG SEM-1V END EXAMINATIONS -.JUNE 2022

Paper Code : PHY4302
- 311rs_ Max. Marks : 75M

e —

SECTION-A

Answer ALL questions. 5x10=50M

1.

t9

W

a) Derive an expression for the cocfficient of viscosity and Thermal conductivity of a

b)

b)

b)

b)

gas on the basis of kincticthcory of gascs.
D) For HrREJIVD, GQRIIEB] (DERSHDIL o lovb BIED e St TS ".og'oé:m G
AT U“&)%)D&‘l».

(OR)
Deduce the Maxwells law of distribution of molecular speeds
3758y DS Dff DG ATy PABIOEOTT DOOOLDAND.

What is Entropy — Temperature diagram? Obtain the expression for the efficiency of a
Carmnot Engine using Entropy — Temperature diagram.

WFD — eTger DOLIIWL? & FD — &re DO VDFoDIVD 5T S
CHOBH00 R0, BLBL DAEGBRO ToeIZD.

(OR)
Describe the working of carnot’s engine and derive the expression for its efficiency.
ST S aHogdmn D), DIBL ITRIVR ID00D GLSLH PASCLB

U”&)%D&ﬁ.)o
Derive an expression for ratio of the two specific heats for an ideal gas.
R2C56y T :)%gfgev BoeSg DiPQS DATHIHD T2

(OR)
State and explain Joule Kelvin effect. Obtain an expression for Joule Kelvin co-
efficient for perfect vanderwaal’s gas.

ZS SO0 DIoY) B DHOoLIW. TS THD MRSANIH DASErD0
RISy TTOIVD L), TS TPANDL A QotdA.

Explain adiabatic demagnetization and how it is used for production of low
temperatures with theory.

’.gsﬂgs DG, 08BrBN DHOoHLAW. A &DArA) oy TG JQod

DéaH .’ocos*'oe:'oa»é" D DB,

(OR)
Describe Porous — Plug experiment. Obtain an expression for cooling produced.
6D HA YAFTE) S0 FSDECRANVHLH VLCRB GO BorB.
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Time : 3Hrs » Max. Marks : 75M

- SECTION-A
Answer ALL questions. 5x10=50M

1. a) Derive an expression for the coefficient of viscosity and Thermal conductivity of a
cas on the basis of kincticthcory of gases.
D FoT ORI, GRITESS (OESHVDL T3 WDODH DLroBi DOAT

ATV U“&)%).Da.).).

(OR)
b) Deduce the Maxwells law of distribution of molecular speeds
255y S D D6 ATy SABTASrT DHOoLDH.

What is Entropy — Temperature diagram? Obtain the expression for the efficiency of a
Camot Engine using Entropy — Temperature diagram.

dotfD — &TFTe DLIDIW? ¥ oD — &TPE DO DVFADIVD TS
0 2]

9
(&)
N’

COG0 CI0E), BESED DAECEDOND TLEDHD.

(OR)
b) Describe the working of carnot’s engine and derive the expression for its efficiency.
ST aDHogBn g, DABCHD IEFIB0 IBBe) BSELESDH DEGEBVD

[oRl AL AV IULY)
O

|92

a) Derive an expression for ratio of the two specific heats for an ideal gas.
RC50y TP DITEre 0y VEBS DATRI TPE0a0.
(OR)
b) State and explain Joule Kelvin effect. Obtain an expression for Joule Kelvin co-
efficient for perfect vanderwaal’s gas.

TS 30D DI BB DB0oLAW. TS SO MRSAVID VASELRDVRO
3Gy STPOSD D, T0ES T*aVND G0N,

4. a) Explain adiabatic demagnetization and how it is used for production of low

temperatures with theory.
NS AGaDIY0HETRID DB30oHLIW. A &DArAD eer &IPS JrQodl

30D DSBS’ R DHOCLIZ.

(OR)
b) Describe Porous — Plug experiment. Obtain an expression for cooling produced.
6D P AP D0 FBDLGrIBVIL DAEERAN ST Do,
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5. a) Explain the construction and working of disappearing filament optical pyrometer.
eocsy3gOADy DDV Gy 26 Dot Do, DIJOKN DGR BLOHED.
(OR)
b) State and deduce Weins displacement law.
DSy F Po? QoI DEED0D) GTBoEdI.
SECTION-B

Answer any FIVE questions. 5x5=25M

6. Explain diffusion of gasses.
TPO30NHL DVGEIR DHBoTVN.

7. Write a note on entropy and disorder.
Do SIOTTATSFAD #5800 ZJPaiaD.

S. Derive Clausius — Clapeyron’s equation from Maxwell’s equations.
25y DS DSCRBVY Aok SDODHD — THRT DAEERDN T HBOLODD.

9. Distinguish between Joules expansion and adiabatic expansion.

S T8 SB0 OATD fgSgg TS 6] S50 B0
10.  Explain Solar constant, deduce the formula for it.

A6 PT0EI0 BROD LA WG Te2800.

11. A carnot engine operates between hot reservoir at 350k and cold reservoir at 275k. It
absorbs 500 J of heat at hot reservoir. Estimate the work delivered by the engine.

w8 58) abogam 350k &S do D& BT B 275k (o IS0
BaTranb L2 DABIB. WA D& BRTyEd S¢ 500 J &>y Fawo

S0 083 Qo2 B D dodh?

The r.m.s. speed of Hy molecule is 1.84 km/sec what will be the r.m.s. speed of O3

molecule at the same temperature.
TE2D rd) rm.s. DR 1.84 .20 / D 0owd 0B &GS G eSynd rd)

L.IN.S. Dt500¢H?

13.  The carth receives heat energy 2 cal/cm’ / min from the sun. If angular diameter of
the sun is 32' and it is treated as black body deduce its surface temperature (¢ =

5.7x107" w/m*/kh).
RGogD 200D 2 cal/em’® / min Bend #3D ZrD eotoH0tod. WD oD

6‘5{1 S0 32! {oovda5cr§ 28 S ST 2PDo) efnl‘gé ej'éboéama. (o =5.7x10°

-12
12 wim?/k*).
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5. a) Explain the construction and working of disappearing filament optical pyrometer.
(5 BROCIY DDV 5yF 8 Dot Do L0, DABEK IETHID BLVRYDD-
(OR)
b) State and deduce Weins displacement law.
DDy T go# o) VDD EEBotdB.

SECTION-B

Answer any FIVE questions. 5x5=25M

6. Explain diffusion of gasses.
TP DRGEIR DHBoThID.

7. Write a note on entropy and disorder.
DogIed SOTTATPS{A 50000 JTaiNDD.

Derive Clausius — Clapeyron’s equation from Maxwell’s equations.

8.
276y DS HD>EBraH0L B0l FRADD — THT°D PEGED HOTTHOOTHD.
9. Distinguish between Joules expansion and adiabatic expansion.
PoAlS) ;,»Bgsém EoVlolovod) fgss-gs aog%f::);a» 20655 3653300 BRI,
10.  Explain Solar constant, deduce the formula for it.
R0 HTEIN QBN TPAS WG T°2END0.
11. A carnot engine operates between hot reservoir at 350k and cold reservoir at 275k. It

absorbs 500 T of heat at hot reservoir. Estimate the work delivered by the engine.
28 58) oPogan 350k ed'de do D& O20°O6 @dakw 275k o e

BaTranb LJG) DITXVR. WO DA BRTYEDD 3 500 J ey Fiawo

B0E 08 Qo2 B D doch?

12.  The r.m.s. speed of Hy molecule is 1.84 km/sec what will be the r.m.s. speed of O

molecule at the same temperature.
TEAD wrnd rm.s. DE0 1.84 $.20 / D 0ond 0B &S 5G esSyBS W)

r.Mm.s. D5oeh?

13.  The carth receives heat energy 2 cal/cm® / min from the sun. If angular diameter of
the sun ’is 32'7 and it is treated as black body deduce its surface temperature (¢ =
5.7x10"% w/m?/Kh.

RPEED 00D 2 cal/em? / min &0 33D FPD oo, R Sria
f agl =
S 2 32! el w8 S ST Ded &S T odw. (0= 5.7x10

12 wim?/k?).
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Code -BL 4202

iV SEMLESTIER
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TIME : 3Hrs

Max Marks : 75

1)

3)

4

5)

SECTION-A

Answer ALL the following questions
(Bod o) (SHoH S¥orGgrSo (v ddandn.

Explain Essentials of valid contract

(ESaEDS SToErRH SoESOR By sP0Nd HHO0LD.
Oor 8o

Explain Various types of Contracts.

90@%0653 Bsrod DHBoHI.

What is Acceptance? Explain Essentials of Vaiid Acceptance

%556)8 3T IW? (B ?oogée)@é SOBNOVY BHETOD DHBORDXW.
Or &or

Explain Essentials of Valid Consideration.

(D8Peosn @) S5O DHBOHSm.

Explain the various ways in which a contract may be discharged.
Sell s DIPSHEDS® Ko DA Srres (HEEen) DBBOIX.
Oor 8o
What is contingent contract? Explain rules relating to contingent contract?

5X10=50.

sroHE Sl @S I? elfodhl SoEryS BobY JDoHo HNOOSHED

Explain the implied conditions and implied warranties?
(B8 H&en HoBaw By rHod DHBoHIW.
Cr Joe
Distinguish between sale and agreement to sale.
XS0 eEnso NG ad)owrS By Sgaesrotn ey,

Explain Intellectual property Rights and its objectives.
HEE S8 5058 S $HBAM TR OFFRD DHOOKW.
Or &ov

Describe the Scope and Objectives of Information Technology Act 2000.

SSmard 088 S0 2000 o) HBG HVAH OFHER> BYoHi.




SECTION-B

1) Answer any FIVE of the following questions. 5X5=25.
|Bob aS® D B (BSHoZI® SHrgrSo (@PdHbn.

6) Void and Voidabe contacts
B Hbckn BRERED sPoErted

7 Unilateral Contract, and Bilatetal Contract
DEDY sPolEry) L0k By DY solErty

8) Types of an Offer
DRPES Bseen

9) Quasi Contract
5@ SorD)

10)  Injection Order
B028Q SN

11)  Distinguish between Conditions and Warranties
ABHed Hrded i HgBegOMORD Be)sm.

12)  Intellectual Property Rights.
DEEHEH0DE SeEpe»

13) E- Commerce
oleE 5°500).



